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1. IR=
EMRECIILRTYTEE(TUH)—N) OHEEEF DT E(E
t AFHFIRILF—(MeV)
(mfp) 1.0 1.173 15
8 16.6 11.9
(&) 805 179 @ 147 ® 120 @
10 22.6 15.6
EMBEEIILRTYTRE (V) —h) OFEEEZTDEE
t ASHFIRILF—(MeV)
(mfp) 1.0 1.173 1.5
8 16.6 11.9
(1E) 805 167 @ 147 ® 120 @
10 22.6 15.6
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£ 41.1(014) RmEARBENLOXAFOEIDREE LTV TRE 3/3
— BT AT —
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t ASRXFIRILF— (MeV) t ASRXFIRILF— (MeV)
(mfp) 15 (mfp) 1.5
8 6.30 8 6.30
10 7.69 |j‘> 10 7.69
15 1.44E+1 15 1.13E+1
20 1.53E+1 20 1.53E+1

3. 46 R—T

& 4213) AFOEIREE LT YTRBUH T HGPELRK/TA—E —fk—

E (MeV) B a Xk Max.Dev Xmax Stand.Dev
(FR) 10 1.306 0.044 13.76 -0.5690 3.63% 0.5 1.58%

E (MeV) B a Xk Max.Dev Xmax Stand.Dev
(IE) 10 1.306 0.044 13.76 -0.0570 3.63% 0.5 1.58%

UL



